1. Error
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This page shows the details of each link specified on the Mesh Links page as well as any errors that were found with
the links and possible solutions

Group Name: General

Meshing On: 149

The following error(s) were found with the ik below:
Both portal and point must be 348 sligned

(ot Dot o= to adjust antenna heading of MSRA000_AF2 o areund 9 o MSRA00_AF3 0 228" )
T v To Qi

« Both portal and point must be 848 aligned (Alignment Eror for both direction and elevation)
80 1o Dafine Hodes to adjust antenna downtft of MSRAD0_AP2 to around 0° or MSRAG0D_APS to 0

60 to Dafine Hodes 1o adjust antenna heading of MSRADOD_APZ to around 43° of MSRAODD_APS to 2287
O Clck Here o quidefic

O Clck Here o quidefix

General Details: Node Detals:

Node Detals:
Distance: 07278km Name: MsRa000 Name: MsRa000
a3 a2
clearance height: 0.7 m
Ideal Beari 2280 Ideal Beari S
transimit power: A
Actual Bearing: o Actual Beari o
Total Alignment Error: 10138 b

Horizontal Alignment Ervor: 212877 db Horizontal Alignment Error: 75283 db





2. Define Nodes
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3. Default AP Value
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Set Defaut AP Model
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